cCo~NoOAON-

model 382 ;
sphere maker

motor a-4300

motor casting, |t.

clamp casting screws IO- 24x!
belt guard. It.

8/32 Nnuts with 5/32x 34 washers

1x 458 pulley

adjusting tube

tension spring

cotter pins

nylon pencil

brake casting adjusting lock
V4" a.n. washer
I0-24 x 5/8 bolts with nuts
arbor casting, It
2LI150 v-beit

I0-24 x11/2 f.h. bolt

/4" flat washer

brake casting

knurl Nut

/4 x 1V4 fender washer
grit pan

400-0-¥8" pulley

fiber washer

nylon bearing

shaft

bearing casting

378" collar

I0-24 nuts

4-20 jam nuts
4-20 adjusting bolts
78" cup

¥8” cup

378" cup

4" cup




model 382

sphere méker
- ®

35 belt guard, rt

36 motor casting, rt

37 4-20 x /8 set screw
38 base

39 slide bar

40 adjusting rod collar
41 adjusting rod spring
42 washer

43 adjusting rod

44 knob

4510-24 x |4 r.h. screws

46 arbor casting, rt




